Algebra 1
Assignment

Find each product.

(ol

1 12
17) 2n+—3 3—n——
2 6 A\ 8 3

Name

ID: 1

Date Period

29 1T | 13 9
6) | —Nn—-—— | —Nn+—
6 SN 6 5



Algebra 1
Assignment
Find each product.

(ol

11, 95 119

12 48 8
11 714 20
3 | —X+— || ox——
6 4 \'7 7
22 , 89
—X"——X-=5
21 21
1 91 11 1
5 | n+—||—n-—
2 206 5
1, 163 9

42, 829 39
5" 000 20

13 111 12
9 | —X——| =X+—
8 3 2 7

13, 20 44
— X+ ——X—-—
1 21
1 919 5
11) [-m—-— | -m-—
3 5\4 3
3
EPC T
4 180
6 9 1
13) | —p—— | 2p+—
12, 3, 9
5 10IO 20
114 5
15) [2n—— | —n+—
6 \3 6
8 , 7 55
3 9 36

Name

ID: 1

Date Period

29 , 355 24
+——X+—
327 287 7

— _1_7_
21 84 16

29 1T | 13 9
6) | —Nn—-—— | —Nn+—
6 SN 6 5

377 5,59 99
36 15 25

ey

—kz —k+—
12 8 3

10 (23] 202

725 , 503 9
——V - ——V+
42 28 2

13 , 9145 104
m’+——m+——
7 882 21

18 (_J(ﬂ
5 5 2

2 , 51 36
—m*——m
5 25 5



Algebra 1
Assignment

Find each product.

ofefes

Name

ID: 2

Date

16) Zx + 1—0 £x
3 7 7

18) lx + E Ex
4 4 3

13)
+_
2
9
5

Period



Algebra 1
Assignment

Find each product.

o[22

18 , 185 125
—m*———m
7 56 16

(5o

16 , 592 96
_7V _—

V —
7 735 35

o]

13 , 809 133
XT+——X+——
2 60 20

it

D, 185, 0

4 64 32

19 [1r-3[ 2y

13, 68 64
6 9 3

55, 1317, 27
s s
287 280 10

Name

ID: 2

Dat

23, 577
—n*+—n+
14 140

e Period

51
20

52 , 219
—n*+—n
5 10

2
—X"+
3

1

10) (?lm + %J(Zm

9
+7

, 397 203
90~ 30

o

22 , 37 7
3 3 8
111 4
12) | —r—— | 2r+—
2 3 3
, 20 44
r——r——
3 9
319 13
14) | 8p—— || =p+—
72 2+1375 13
7 P 42 P 2
7 10| 11 13
16) | —X+— | —X+—
3 7 N7 2
11, 5119 65
— X ——X+—
3 294 7

7, 743 99
X X -
6 60 20



Algebra 1
Assignment

Find each product.

) (_j(__}
2 07 4
) [__}[_]
6 7 4 7

(o2

Name

ID: 3

Date Period

1 1 11
10) —3n+—7 3—7n+—
8 4 )\ 8 8

14 (ﬂmﬂJ[ng]
5 3 05 8

ofe it
2 7l 4 4



Algebra 1
Assignment

Find each product.

7

5 3415 2
3 | X+— || —x-—=

6 7 N\ 4 7

25 , 755 68
— X"+ ——X———
8 42 49

5) [gb + %}(14—% + 7}

57,, 143 35
—b’+ S b
14 2

( 21]{1 11]
11) | 6X+— || =X ——
s le 6

, 103 77
X< — P
1010

13 [ﬁn_ 8]@2}

20 2 1108 232
+——n-———
21 441 21

34 2)19 9
15) | Zp+= | Zp+—
(oo

646 , 1796 18
— P t—_p+
35 175 © 25

7 [_)(_9_6]
2 6 7

29 , 421 13

a’+ a-—
3 34 7

Name

ID: 3

Date Period

119 , 269
—Tr+

i
2
12 30 5

oo

65, 47 72
247 560 7

1 1 11
10) —3n+—7 3—7n+—
8 4 )\ 8 8

481 , 1401 187
n-+ n+
64 64 32

2 1
12) Zx+2 —5x+—3
6 8 4

175 , 241 13
—X" +——X

+
48 24 2

1 (Lo 2] %, )
5 305 8

126 , 491 55
—b*+——b+
25 40 8



Algebra 1
Assignment

Find each product.

) (__j(_J
7 8 6

3 [ﬁmﬂ}(ﬁbﬁJ
5 6 3 7

1y (22 5.2
4 8 \3 3

15 [Lo-7] oo
6 7

ID: 4
Name

Date Period

7 3)N3 2
14) (2n - 2}[2n + 2]
2 2



Algebra 1
Assignment

Find each product.

N

253 , 5623 39
—n’+ n——
42 336 4

(oot

64 1228 136
—b?+ b-——
15 315 21

(-2l

5. 23935

- +
12 72 24

7) in—g in+l
8§ 3)\2 8

9 , 61 1
16 64 12

o3t

Name

ID: 4

Date Period

8 256 23
2) | X+— | ox+—

48 , 11266 575
—X + —X+——
35 735 21

4) (%x + IJ(%X - g}

T 2, 0D

X
24 168 7

6) (2n - EJLG + 2}
7 8

us 403
28 56

. (gk_q[g“g}

1 319, 48
Bl Pl
2 49 7

(-3

21, 257 4

4n’* +

5P 71507
2 5\ 5 1
12) |=n—— | -n—-—
7 3|3 2
10, 184 5

21 63 6

14) [%n - 2}[2n + 3]

2,065
oInN“+—m~n-9
4

22 1
16) —n—i zn +—3
5 202 3

33 , 1009 13
—n‘+—n-—
5 60 2

X+
7 28 8



Algebra 1
Assignment

Find each product.

o5

15 (__0)(__}
3 3 A5 5
16 19 12

17) | —p+— | p—-—

ID: 5
Name

Date Period

13 39 |7 17
) | —n+— || -NnN-——
3 8 A8 6




Algebra 1
Assignment
Find each product.

o5

21, 151, 21
k-

4 20 5
2811, 7
3) | —k+—- | k-—
3 7TN2 6
1 1 4
4«2_4§k_7
3 63 3
5 317 1
5 | X——| =x-——
2 2)2 6
35 , 171
—X =X+
4 3 +

17 11 | 1 11
N |—r+—|-r——
6 6 6 6

17, 4 121

36 9 36
5 11 8
9) | —Xx=1]—X-—
4 8 3
55 , 113 8
— X = ——X+—
32 24 3

11) (gn + %I%n + 2J

91 , 109 10
—n“+——n

n +
16 12 3

13 (é_j[_J
5 SN 3 5

22 , 94 28
75 25

ol 2o

16 , 487 38
Sp 210p 7

Name

ID: 5

Date Period

13 397 17
2) | —Nn+— || -Nn-——
3 8 A8 6

91 , 4615 221
24 576 16

4) (%m + IJLSm + %}

32 , 100 7
—m*+—m+—
9 3

3
o s+ 2] %1
2 N7 4
2, .3
7 14 8

100 , 487 5
——X = ——X+——
9 126~ 21

19 (?g(zj

45, 54716
8 140 21



Algebra 1 Name

ID: 6

Assignment Date Period

Find each product.

(5l

15 17 11 7 1] 11 5
17) (Eb - 2}(£b - 1] 18) (ﬁb + £J[zb + l]
5 6 2 8 6 4



ID: 6

Algebra 1 Name
Assignment Date Period
Find each product.
9 151 14 1 3 13 7
1) |-n+—|-n-—— 2) | =X+— | =—X+—
8 \4 5 7 7N 7 8
i ,_ 3657 21 13, 361 3
20 800 4 49 392 8
7 515 5 2 1|5 13
3) | k+—=| —k-—— 4) | =k—— | —k-——
4 34 8 5 34 6
35, 95, 25 1, 77, 13
16 96 24 2 60 18
3 27 3 1 14 7
5 | 2X+— | —Xx—— 6) | —n—— || —n +—
2 ) 8 4 2 303 8
27 , 57 9 2., 1 7
—X +—X—— —N° - —N—-—
4 16 8 3 144 24

(o)

5 1 1 2 2
5, 319 7 198, 25 25
8 48 8 49 14 12
2 513 1 13 3
9 | —r——|—-r—— 10) k—
3 4 )\ 2 3
151 5 13 107
P2 _ r+— —k*-—k+6
72 12 9 6
13 8 9 11 17 | 3
11) | —p -1 - — 12) | —X+— || =X+ 3
104 , 743 9 33 2 21 51
— P -—=ZpP+Z X+
21 147 7 16 2 4
1 201 11 9 1] 3 17
13) —x— —X+— 14) | —r—— | —r+—
305 7 7 2\ 4 8
Lo, 4, 2 27,,33, 17
15 105 21 28 14 16
15 17 11 7 1] 11 5
15 — | 2n+— 16) |—p—— || —p+—
E , 547 NJ 77 , 6l 5

n“+—n+
4 40 15

4
[ }(gb] 19 (Lo e

143 , 163 39, 469, 11
—b*——b+ —b*+—b+
30 30 4 96 24



Algebra 1
Assignment

Find each product.

) (? J[_}

ID: 7
Name

Date Period

1 1
10) (ﬁb_7J(_5b+£]
7 4 8
12) (Qx + IJ(gx + I—SJ
4 5 8
5 7 4 8



Algebra 1
Assignment

Find each product.

203, 79 4

3 15 5
1|6

3)|6n—— | =n+4
6 N\7

36 , 167 2

7 3
3 13

S) |Zp-2|—p+2
95,7
8p 2p

18 , 111 44
+—V-——
5 35 7

g [23_][_9 J
5 7 7

261 , 4489 34

35 245 7

7 12 | 13
1) [—-m+— | —m+1
2 7 N\ 2

91 , 205 12
—Mm 4+ —mM+—
4 14 7

(ot

25 , 393 27

+
28 112 10

Name

ID: 7

Date Period

5 30 12
12 8|7 19
4 | —r+— || —r——
7 3 )6 6
,_146 76
2r

(o i

27 1654 27

7 147 7

8) (2x - EJ(EX + 2}
306

437 , 216l 15
— X"+ ——X+
20 160 8

17 10| 15 25
14) | —n-——| —n-——
5 7\ 4 8

51, 895 125
P TR



ID: 8
Algebra 1 Name

Assignment Date Period

Find each product.

1) (zp_ﬁj(ﬁpi} 12 (__ﬂ(_ J
8 4 6 7 4 8 \3
13 (zmﬂ](zb_EJ 14 (éxij(zx_%
6 8 \3 4 7 2 )12 5
15 (__9)(1_) 19 [_3][_3_]
7 4 \2 4 4 4\ 7 4
(T4 2
5 4)\3 4



Algebra 1
Assignment

Find each product.

— X" ——X+
24 6 3

15 1319
11) | —p-—| =p+
(-2 25

95 , 1549

16p 168 P

o 20122

5 9 63
—b*+=b-—
9 8 32

36 , 1215
—X 4+ ——X+
7 56

) [1 ](_3
5 4,13

B, 8 1
15 15 16

13

7

|

3
4

24 193 17
15) | —X+— || =X+—
7 4 \2

4
323

16

11

g

4

4

7

Name

ID: 8

Date Period

5 37, 3
~b*+=—b
4 20 5
1 117
4) |-v-—|—v-1
4 3] 6
17 43 1
24 36 3
3 19| 3 1
6) |-N—— | -Nn+—
4 6 \4 4
9 5 35 19
16 16 24
7 1118 9
8) | = X—— | =X+
8 305 2
Z > 463 33
5 240 2
6
10) (—x— 1}(—x+2}
7
10 , 52
—X +—X-2
7 1
21 29| 2
12) | —Xx+— || =x+1
4 8 N3
7, 23 29
—XT+—X+—

39 , 1567 28

X X+
7 140 5

1 1 11
16) —3m—§ —3m+—
4 4 N\ 7 4



Algebra 1
Assignment

Find each product.

1 13 | 1 21
5 | —-m-——|—-m+—
2 8 \8 8

N—

15 (_3_)(3]
5 6 \2 5

17 (im_zJ[Emi]
2 3N 7 2

Name

ID: 9

Date Period

. (__][__j
5 3 (4 3
o2
8 4 2
12 (éb+£j(1b_z]
6 7 N8 2
14) [ﬂx + lJ(3x + EJ
8 7 7
19 (z_j[i]
4 6 |3 3



Algebra 1
Assignment

Find each product.

1, 71 273
7m [

+ f—
16 64 64

oo
5 3N2 5

3, 181 24
—N"——nN+—
10 75 5

o34t

69 , 93 22
—n°———n
10 100 15

17 (_j(_]
2 3N 7 2

Name

ID: 9

Date Period

14x% ——x — =

3 3
3 11 3
4) | —X+3 | —x—-—
2 6 2
11, 13 9
4 2

25 , 19 208
127 217 35

23 1413 1
8) | —r+— | -r+—
5 34 3

69 , 151 14
—r e+ —T+—
200 30 9

10 k_ﬂj[zk:}
8 \4 2

5 71 11
hall PR kK 4+ —
4

+
32 16

12 (ébﬁj(ib_z]
6 7 )\ 8 2

25 83 27
i —p-—

48 14 7

1 24
14) £x+— 3IX+—
8 7 7

177 , 180 24
——X A+ —X+——
8 49

7
4 13



Algebra 1

Assignment

Find each product.

5 15
3) [ 2x+—
48
19 3
5) | —r-=
6 2

17) (

7 11 12 19

5 6 \7 8
15 12 13

X—— | —X+—
4 \ 7 3

Name

ID: 10

Date Period

1 1
10 (_MEJ(LMLS]
2 8N 7 8



Algebra 1
Assignment

Find each product.

y (bt 3]

2 5 1297 20

15 1050 7

o2

3.2

—X +—x——
2 4 4
19 3|9 9
5 | —r——| =r+=
6 2\7 17
57 Er 27
14 7 14
117 1
)| X+— | =x-—
4 8)\2 3
T L
8 48 24
Ly1r 12
9) [ X+— | =X——
2 )\2 7
lo M 6
2 280 7
5 6|17 2
11) |[-n+— | —n+—
4 SN\ 7 3
85 o2 787 4
+—N+—
28 210 5
9 1
13) | x—=2 | —x+1
2 4
9 2
—X"+4x -2

Name

1D: 10

Date Period

63 , 2837 9

—m~ + +
20 1120 56

(3ol

23, 543 7
7m —
4 80 4

3

oftn 3302

431 105
—bz —b+
14° 112 64

12 [_9J(_j

1, 101 18

X" — X+
5 70 7

o[t

43, 85 64
48p 42p 21

19 20+ 2] 20

3, 3781 34
2" 560 s

18) (2n + gJ[%n - E]
5)\3 5



